@% Algebra 1 Quick Check — Form A

Readiness Standard 1 - 8.EE.7b

Name Ku?)/ Date

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

1.

What value of x makes the equation below true?

2x + 15 = 8x — 9
Ax +1S= Tx+ -9

-Ax “Ix
S = bx+ 19
+9
*1
M = bx
.
Y= x X:L(

What is the solution to the equation below?

5x+2) = x-—2
Sx4+5:Q = X+ -2

Ux+\0=x+ -2

—X -
Yy +\0 — -2
—\0O -0
Yx = -2
Y v
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@% Algebra 1 Quick Check — Form A

Readiness Standard 1 - 8.EE.7b (Continued)

3.
What value of x makes the following true?
2(5x — 4) = 3x + 13
2Sx+ Y) =3Ixe 13
25X +2-Y4 = 3x+ 13
Ox + % = 3x +13
- 3X '—SX
f\'x‘\" '8 — ‘5
+g  +8&
- 2!
"‘.?' =
X=3
4,

What is the solution to the equation below?

2(4x + 1) = 3(x — 6)
Q-Yx+2-l = 3-x+ 376

—3X e
5)(‘5’9- = -—lz
-2 -
gx — "c;O
5 s
x= Y

© OAISD, January 2022



@fﬁ Algebra 1 Quick Check — Form B

Readiness Standard 1 - 8.EE.7b

Name k,u(/}/ Date

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

1.
What value of x makes the equation below true?
3x —6 = 8 + 9
Ix+ b =Fx+9
-2y - 3x
— = Sx+9
-9
—9
——\5 - 6)<
= S X="3

—3=X

What is the solution to the equation below?

3x + 2) = 5x — 6

—2 ~ 3
(o — Qx*—rg
+ - X—“—()
\z = 21X
= 2
6= x
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@% Algebra 1 Quick Check — Form B

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?
2(4x — 6) = 2x + 12

A Y + 216 = Ax+ 12
TXx + "L = Zx+ 12
-2x e

+ 1L = 1T
(OX nl iy A 12z

bx =24
G

o
X=\

What is the solution to the equation below?
4(3x + 6) = 3(x —7)
Y3x +4-b= 3-x + 3- 71
\Zx + 24 = 2x+ "2
—3x ~3x

= 2|
2— —

© OAISD, January 2022



ELTA
MATH

Name KL%/

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

Algebra 1 Quick Check — Form C

Readiness Standard 1 - 8.EE.7b

Date

1.

What value of x makes the equation below true?
2x + 6 = 6x — 10
Ix+6 = bx+ 710

b= Yx+ 710
to rio
\ = Hx
"q bj
Y= X
x=Y
2.

What is the solution to the equation below?

3 +2) = x—8

Fex+33:2 = x+°%

-x
=X
cb="F%
o x e T L
dyx = —I¢
-
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31



@;ﬁ Algebra 1 Quick Check — Form C

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?
4(3x + 1) = 3x — 14
=1
Yooy ol = 3¢+ 7MY
l2x+4 =3+
_,9( "51’(
qx 4 \( - -1y
-4

Y

What is the solution to the equation below?
4(3x — 6) = 2(x + 3)
2+ Y = - x+ a3

\ox + a4 =3ax+0

—ax —aXx o

Ox + =Y =6
+ay Iy

\Ox = 30
— T

(O

K=3

© OAISD, January 2022



@}\ﬁ Algebra 1 Quick Check - Form D

G

Readiness Standard 1 - 8.EE.7b

Name Ve
d

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

Date

1.

2x — 10 = 5x + 2
ax_\r -0 = Sx+ Z

—lo = 3x+2
-7 -2

-,

—12 = 3x
— 3

3
(= Xx=-Y

What value of x makes the equation below true?

3x —3) = x+7
'5()(—\—'3) =x+7)
2.X +3-3 =X+

:X

0-)5(4— -? - 7
+9 +9
— /b

4
X=¥

What is the solution to the equation below?
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@E‘i Algebra 1 Quick Check — Form D

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?
4(2x — 6) = 3x + 11
Yedx + 46 = x4+l

- 3x ~3x

What is the solution to the equation below?
2Bx + 1) = 4(x - 2)
Q3%+ 2l = tx+Y4-2

—Yy K
&xt} N
ax =10
IEY 2
X=-5

© OAISD, January 2022



@;ﬁi Algebra 1 Quick Check — Form E

Readiness Standard 1 - 8.EE.7b

Name VJ,«(,}/ Date

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

1.
What value of x makes the equation below true?
2x + 15 = 8x — 9
Ax +\5 = 3x+ "9

—ax s
\g = (osc-!'-c'
49 v9
724 = bx
o )
Y= x X=Y

What is the solution to the equation below?
5(x +2) = x—-2
S.¥4+5-2 = X+2

+10=x+"2
Sx X

© OAISD, January 2022
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@% Algebra 1 Quick Check — Form E

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?
2(5x — 4) = 3x + 13
2(5x+"Y) = 23x+13
2:Sx*2-Y= 3x+13

IOX + ~8 =3x+13
bt —3x
Ix+ 8 =13
+3 +8§

“1x = 2

m——

27 "7
X=23

What is the solution to the equation below?
24x + 1) = 3(x — 6)
2 (4xl) = 3(x+ 76)
2-Ux 4 2-1 = Ix 736
Sx+2 = Ay + =18
—3x T3«

© OAISD, January 2022



@?ﬁ Algebra 1 Quick Check — Form F

Readiness Standard 1 - 8.EE.7b

Name \Qua/ Date

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

1.
What value of x makes the equation below true?
3x —6 = 8x +9

2x+ b = ¥x+9

-3X — 3%
—b =5Sx+9
~ﬁ =G
-5 = Sx
5 S X = -3
-4 = X

What is the solution to the equation below?
3(x+ 2) = 5x — 6
(D) = Sx+ e
Zox 4322 Sx+76
x4+ = Sx+ b
—3x

/'SK
- ZX + -b
-\-(o!o T6
2 =2x
2 2 X=06

b=-X

© OAISD, January 2022
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@% Algebra 1 Quick Check — Form F

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?
2(4x — 6) = 2x + 12
Z(\{)H-_(O) =2Ax+12
7.4x + 2-76 =Ax+I2

Tx 4+~ = 2x+ /2
—2x —2x

by + 1L =12
sl I N I R

bx =2y
= ;
X=Y

What is the solution to the equation below?
4(3x + 6) = 3(x — 7)

Y(3serl) = 30+ )
Y2x+Yb = 3x+3]
\Zx+ 24 = 3x+ "2

-3y —3x

= -2/
T
Ix = 45
K2 9

X=-5

© OAISD, January 2022



@}\ﬁ Algebra 1 Quick Check - Form G

0GRAM

Readiness Standard 1 - 8.EE.7b

Name L’,u(/,}/

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

Date

1.

What value of x makes the equation below true?

2t + 6 = 6x — 10
Ix+6 = x+ "0

—2x —Zx
o 5 =/0
+|% T+ 70
(6= Yx
v Y
Y= x =1

What is the solution to the equation below?
3x+2) = x-—8
3-x+32 =x+ 3
3x +6 =x*78

— % -~

2x+b="8

__(0 '—Q

Zx="%
z 2
X= =
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@ Algebra 1 Quick Check — Form G

H
Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?
4(3x + 1) = 3x — 14
Y.Zxs Y| = B+ 7Y
\2x+Y = 3x+ 1Y

— 3x —3x
qx+4=""1
Ix=-18
9 9

X= -2

What is the solution to the equation below?
4(3x — 6) = 2(x + 3)
Y(2x+76) = 2(x+3)
e + Y6 = xtX°3

Rx+ Y = Ax+b
3w —Ix

© OAISD, January 2022



ELTA
MATH

Name KUN’

Learning Target: | will solve multi-step linear equations.

Directions: Answer each question and show your work. (Work time: 5 minutes)

Algebra 1 Quick Check - Form H

Readiness Standard 1 - 8.EE.7b

Date

1.

What value of x makes the equation below true?

2x — 10 = 5x + 2
Ax+ ~\O = Sx+ 2
-;)c —&\C
—\0 = 3)(4—2.
-2 —2
—2 = i)g
_—
2 3

What is the solution to the equation below?
3x—-—3) = x+7
2 (x+ ~3) = x+ )
2ex + 373 = X

© OAISD, January 2022
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@fﬁ Algebra 1 Quick Check — Form H

Readiness Standard 1 - 8.EE.7b (Continued)

What value of x makes the following true?
4(2x — 6) = 3x + 11
Y(2x+~6) = 3x+I]

Yo2x+ Y6 = 3x+i]
Sx + ~29 = 3x+1/

—3y - 3x

Sx +ZZY( +‘2’LI

5x > 35

———

5 S
X=

What is the solution to the equation below?
23x + 1) = 4(x — 2)
2( 3x+)) = Y(x+2)
22421 = Hx+ Y-

._L_hc X

2x+2 =%
-7 -

x>0

7 2

X= -5

© OAISD, January 2022



Algebra 1 Quick Check — Form A

Readiness Standard 2 - 8.EE.7a

Date

Name %

Learning Target: I will find the number of solutions to linear equations in one variable.

Directions: Circle the number of solutions to each equation. (Work time: 5 minutes)

1. 2.
2x + 8 = -2x + 8 bx — 2 = 6x + 2
2y 42x Cx+ "2 = bx+ 2
42 42
Y+ g% =8
—% & C,)( = bx+Y
Ux =0 y=0 —bx T
“ 9 oxYy
No Solutions Infinitely Many One Solution Infinitely Many
3. 4.
5t + 6 = 5x + 6 3x + 9 =-2x -9 —x
~Sx > 2x+G = —3x =9
= +9 = —3x+77
Lb=0b 3x 9 W
3)(1”8’"’7_39&
T3 g-ex” x=-3
—6
No Solutions One Solution No Solutions Infinitely Many
5. 6.
2x + 6 = 2(x + 3) 6x + 3 = 3(&x + 1) + 1
x+b=2-x+2-3 bx+3=32x+3 +/
2x+b = ) x+6 Lx+3 = b6x+ Y
— —2x —byx —bx
g £ Y
C =6 3
No Solutions One Solution One Solution Infinitely Many




Algebra 1 Quick Check — Form B

Readiness Standard 2 - 8.EE.7a

Date

Name b/.}/

Learning Target: I will find the number of solutions to linear equations in one variable.

Directions: Circle the number of solutions to each equation. (Work time: 5 minutes)

1. 2.
8& + 2 = 8 - 2 3x —6 = -3x + 6
- 8x ~8x +2x +3x
Z 7‘: -2 bx — 6 = G
+ 6 +b
Bx - lZ_
6 ©
X=2
One Solution Infinitely Many No Solutions Infinitely Many
3. 4.
4« -6 =x-2+x -4 3x + 1 =3x +1
Yxfb = Ix +-6 —3x ~3x
_—’Lx —'Z_x _
-b - ~é l-— '
Lxt, o= s
- 2
No Solutions Infinitely Many No Solutions One Solution
5. 6.
2x + 8 = 2(x + 3) + 1 5¢ + 6 = 2(2x + 4)
Lx+% = 2x+ b +) Sx+6b = Yx+3
e X
L+ = Lx+/ Hx .
—1x ~Ix X+ % = z
S =7
X =2
One Solution Infinitely Many No Solutions Infinitely Many




Algebra 1 Quick Check — Form C

Readiness Standard 2 - 8.EE.7a

Date

Name Xiug/

Learning Target: I will find the number of solutions to linear equations in one variable.

Directions: Circle the number of solutions to each equation. (Work time: 5 minutes)

1. 2.
3x +4 = -3x + 10 4% — 1 = 4x - 1
+3x +3x Yy M
bx+ 4 =10 -t =~
-\ -\
bx="t
6 6
X=1\
No Solutions Infinitely Many No Solutions One Solution
3. 4.
5+ 1 = 3x + 1 + 2 2x + 4 = -2x — 4
Sx4+| = Sx+/ *Ux +2x
- -S -
Sx X Y+ Y=Y
L= -4 ¢
=8 x=-z2
Y ¥
No Solutions One Solution No Solutions Infinitely Many
5. 6.
8 + 5 =42x + 1) + 1 bx + 4 = 2(3x + 4)
Ex+ S = Ix+Y+! bx+ Y = bx+3
x+S = 8x+ s —b¥x —ox
- gX
—§X y =3
S =5
No Solutions One Solution One Solution Infinitely Many




Algebra 1 Quick Check — Form D

Readiness Standard 2 - 8.EE.7a

Date

Name Ji%v

Learning Target: I will find the number of solutions to linear equations in one variable.

Directions: Circle the number of solutions to each equation. (Work time: 5 minutes)

1. 2.
2x + 4 = -2x + -4 bx + 2 = 3x + 14
ALy +2x ~3x 3%
_ x¥2 =1y
U+ Y = L‘(’ 1T
-y - -
X =12
Yx = -8 =2 3
~ Ty -
Ny X=Y
No Solutions Infinitely Many No Solutions Infinitely Many
3. 4,
5 + 6 = 3x + 7 + 2 3x —4 =3x — 4
§X+‘o = Sx+) ~3x =
—S¥Y - Sx
_Y -~ _Y
Lx 1
One Solution Infinitely Many No Solutions One Solution
5. 6.
I + 2 = 2(x + 4) 8 + 1 = 3(&x + 1) + x
Mx+2 = 2x4% Ex+ (= bx+3+dx
-2x Tx Tx+l = gx +3
1x+1 =38 ¥
- (%3
Ix=L
7z 2
X=3
No Solutions Infinitely Many One Solution Infinitely Many




Algebra 1 Quick Check — Form E

Readiness Standard 2 - 8.EE.7a

ELTA
MATH

Date

Name K%%

Learning Target: 1 will find the number of solutions to linear equations in one variable.

Directions: Circle the number of solutions to each equation. (Work time: 5 minutes)

1. 2.
2x + 8 = -2x + 8 bx — 2 = 6x + 2
A+2x 4 2% Gt "2 = bx+2
3 +2_ +2
L/ng ”'8 ‘:K :éb)('/'y
- ~—obX
{Yx=0 ©x
v= O kD
No Solutions Infinitely Many (No Solutions)One Solution Infinitely Many
3. 4.
5 + 6 = 5x + 6 3x + 9 =-2x -9 - x
75X o Zx+q = —3x4 ~ 7
- +3x
=6 +3x
9=-9
Gxtq ~;
bx =18
© 6
X ="
No Solutions One Solution No Solutions Infinitely Many
5. 6.
2x + 6 = 2(x + 3) 6x + 3 = 3(2x + 1) + 1
Qx_\.(o:Q-X*Q'S bx4+3 = R-2x+3-| + |
&X-}—‘OZQX'J'Q (QK_\_'ssz-yS-&I
—ax > bx+3= bx+Y
=6 —x —bx
3#4
No Solutions One Solution One Solution Infinitely Many

© OAISD, January
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ELTA
MATH

Algebra 1 Quick Check — Form F

Readiness Standard 2 - 8.EE.7a

Date

Name LU&/

Learning Target: | will find the number of solutions to linear equations in one variable.

Directions: Circle the number of solutions to each equation. (Work time: 5 minutes)

1. 2.
8 + 2 = 8 - 2 3x —6 = -3x + 6
—§x 3y T
bx +b =0
2 X -2 X -\»& +b
bx=12
b 4
X=2
One Solution Infinitely Many No Solutions Infinitely Many
3. 4,
4« — 6 =x—-2 +x -4 %x+1=_33x+1
- “ox x
Ut b = 2x+ 76 = |
—2x —Zx
ZX++% - +(Z
2x =0 -
- =z *=°
No Solutions Infinitely Many No Solutions One Solution
5. 6.
2x + 8 =2(x + 3) + 1 5 + 6 = 2(2x + 4)
2x4% = aAx+ 6+ Sx+b = Yx+ &
2 x+% = 2xt7] ~Yy ~ Y
—_ —Zx
&% x+ 6 =3
€x7 —6 6
X=2
One Solution Infinitely Many No Solutions Infinitely Many

© OAISD, January 2022

34



E

Algebra 1 Quick Check — Form G

Readiness Standard 2 - 8.EE.7a

Date

Name &/3’

Learning Target: | will find the number of solutions to linear equations in one variable.

Directions: Circle the number of solutions to each equation. (Work time: 5 minutes)

1. 2.
3x + 4 = -3x + 10 I — 1 = 4x - 1
43y 43 —Yx ~Y%
by +¥=(0 | =—I
-y
bx =6
© ¢
X=1
No Solutions Infinitely Many No Solutions One Solution (Infinitely Many )
3. 4,
5c + 1 = 3x + 1 + 2x + 4 = -2x — 4
Sx+ = Sx+) +2x R
~5x > Ye+Y= —Y
(= ( IR
Yy =8 o _
5 v A=
No Solutions One Solution No Solutions Infinitely Many
5. 6.
8& + 5 =42 + 1) + 1 6x + 4 = 2(3x + 4)
Tx+S = Fx+Y+) bx+ = bx+&
Ix+S = 3x+5 —bx “ox
—€x T8
_ V¥E
=5
No Solutions One Solution ( Infinitely Many ) One Solution Infinitely Many

© OAISD, January 2022




E

Algebra 1 Quick Check - Form H

Readiness Standard 2 - 8.EE.7a

Date

Name ‘CUQ\/

Learning Target: | will find the number of solutions to linear equations in one variable.

Directions: Circle the number of solutions to each equation. (Work time: 5 minutes)

1. 2.
2x + 4 = -2x + -4 bx + 2 = 3x + 14
—“+2x + "5’( —?(
Yx +f=-Y 2 =Y
-4 -V 3x tz, -2
\'(X =~ _5_2( = ,/._Z_
KN 3 2
X=-2 X=\
No Solutions (§ne Solutioa} Infinitely Many No Solutions Infinitely Many
3. 4,
5 + 6 = 3x + 7 + 2x 3x —4 =3x -4
- —3x
Sx¥+ b =5x+7) 3=
-Sx —Sx Y =~y
L 57
One Solution Infinitely Many No Solutions One Solution
5. 6.
I + 2 = 2(x + 4) 8 + 1 =3(2x + 1) + 2x
Yxr2 = 2548 X+ = bx+ 3+ 2x
~2x —Ix Txx = ¥x+ S
-
2=5
Zx =6
pa- 2
X=3
No Solutions Infinitely Many One Solution Infinitely Many

© OAISD, January 2022




@}\ﬁ Algebra 1 Quick Check - Form A

- Readiness Standard 3 - 8.F.4

Name K,Q,u(\)/ Date

Learning Target: | will find the equation of a line. (Work time: 5 minutes)

1. Complete the equation of the line represented in the graph.

= |-3
! v = [Flx 4

2. Complete the equation of the line represented in the table.

(o) C1,2)

- 2-N _ -2
x y = T-o - - =-2
-1 6 \): W\X—!—B
0 4

2 = -2()+b
1 2 2=-2+b
5 0 rL 41
3 | =2 H=b

© OAISD, April 2022



@?ﬁ Algebra 1 Quick Check — Form A

o Readiness Standard 3 - 8.F.4 (continued)

3. Complete the equation of the line represented in the table.

(O)S)(z)“)
x y
m= W-S - G
2 -1 —2"__‘5 ’E'S
0 5
5 = 3(o)+b
2 | 11 5= b
4 17
6 | 23 y = 13]x +

4. Complete the equation of the line that contains the two points.
(-3,-2) and (4, 12)
1--2 1y _ 2
m=Ty--3 T T
— v +H (Y, (‘2,5
V2 =2(4W)+ l:)

\L=G+b
4=k y = |2 |x +

5. Complete the equation of the line that contains the two points.

3,9) and (15, 17)

= 19 _ 3 _ 2
S -3 iz 3

= mAxt (1S17)
7 = 5E8)+b

7=b y =

© OAISD, April 2022



@E Algebra 1 Quick Check — Form B

o Readiness Standard 3 - 8.F.4

Name \(,U(')/ Date

Learning Target: | will find the equation of a line. (Work time: 5 minutes)

1. Complete the equation of the line represented in the graph.

y
A
(4,0)
< —@FE>x
L ]
/(i -
<
- y = |Y]x + |4

2. Complete the equation of the line represented in the table.

(_3) 0‘) (-2) ’33“/\: _—_3_10—-—- i - —-3

x y -2 -3 !
-3 0 \J'—" Mx-}—b whan us‘w\oi (-3,03
0= -3(-3)+b
sl 3 o= 9+b
e o 2:=-3 b=-9

! N (un |

'\M"-é("% 0 -9
1 -12

\l:5~\w;) \g, y — _3 x
odd \ N

© OAISD, April 2022 23



@ Algebra 1 Quick Check — Form B

ATH
Readiness Standard 3 - 8.F.4 (continued)

3. Complete the equation of the line represented in the table.

X y _ -2 - ls__ S
M-z.0 3

6 | -28

\j = MXJ.-«")
3 | -13 5 = o(s)+b
0 2 7=b
3 17
6 | 32

s 5 5 5]

+3vac *I\Sunc

4, Complete the equation of the line that contains the two points.

(-3,-4) and (3, 14)

m= 14-79 _ 8_=x
2-"3 6
"/Mx-‘r—b
= 3(3)4b
Y= 9+b
5=b

X

5. Complete the equation of the line that contains the two points.
(5,7) and (15,13)

™ — \3-7 - .—QL :,—i
\S -5 lo &)

\5=15(Z2)+b

(2 = 94b
-9 79
H=b s | x

© OAISD, April 2022
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ELTA

Name KU%'

Learning Target: | will find the equation of a line. (Work time: 5 minutes)

Algebra 1 Quick Check — Form C

Readiness Standard 3 - 8.F.4

Date

y
A

1. Complete the equation of the line represented in the graph.

(0,12)
N

\(io) > X

X
{ %
2. Complete the equation of the line represented in the table.
q - b - } - 3

x Y |m=7-0 |

-2 0 \3 = mx-{—b

-1 3 L= 3Oxb

0 6 b=b

1 9

2 12

2L |x

© OAISD, April 2022
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@?ﬁ Algebra 1 Quick Check — Form C

Readiness Standard 3 - 8.F.4 (continued)

3. Complete the equation of the line represented in the table.

(2,11)(0,3)
X y
m= -3 _ ¢ _ y
4 | -13 2 -0 P2

-2 -5 j—_ mx-s.b
o | 3| 3=4(9+b
2=b

2 11

4. Complete the equation of the line that contains the two points.

(-4,-5) and (2,7)

IR
Y= M+
7=2(D%b
’3 ;:lq-\ab

2,=b

X

5. Complete the equation of the line that contains the two points.
(4,5) and (12, 11)

-3

m = “-S:_E.
% Y4

= i

R-Y

j ~ mx+b
\\ = \1(-3—)-\—\:

Py

© OAISD, April 2022
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@;ﬁ Algebra 1 Quick Check — Form D

moGAAM

Readiness Standard 3 - 8.F.4

Name ‘Qw(x)/

Learning Target: | will find the equation of a line. (Work time: 5 minutes)

Date

1. Complete the equation of the line represented in the graph.

XO' 3)
\
xl, 0) -

\

A

N

¥ S
2. Complete the equation of the line represented in the table.
X y
(a"(" - 2 _ "Z
0 6 M- o—- ~ r—
2 2 0= -2.(3)%’5
= —bs+b
3 0
b=06
4 -2
,L x

© OAISD, April 2022
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@;ﬁ Algebra 1 Quick Check — Form D

Readiness Standard 3 - 8.F.4 (continued)

3. Complete the equation of the line represented in the table.

X y

m=W\-5_ (¢ _
6 | -7 3-0 3 =z
3 | 1

3 11 5=b

6 17

] 1x
4. Complete the equation of the line that contains the two points.
(-2,-5) and (2,11)
m= U="5 _ 16 _ "
1-"2 ¥y -
‘j=>w1x¥L
(\ = Y ( Z.} -\—b
W= €¥b
—< -6
2=b Yix
5. Complete the equation of the line that contains the two points.
(5,8) and (20, 14)
-~ M-85 - 6 _ 2
m - — — L e——
20-5 1S5
Y= x+b
M= ()b
4= Fab
~—% —&

© OAISD, April 2022
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@}\ﬁ Algebra 1 Quick Check — Form E

o Readiness Standard 3 - 8.F.4

Name mg/ Date

Learning Target: | will find the equation of a line. (Work time: 5 minutes)

1. Complete the equation of the line represented in the graph.

\

2. Complete the equation of the line represented in the table.

(0)‘“ (1 :7—3
m= 24 - -z - -2
x y \-0O ‘

-1 6 L)’:. mx-\-b
o | 2=-20)+b

1 5 1:——7_-\’5
Y=Db

2 0

3 -2
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@E Algebra 1 Quick Check — Form E

_OGRAR

Readiness Standard 3 - 8.F.4 (continued)

3. Complete the equation of the line represented in the table.

(05) (7,")
x y

m = (=5 - 6 -3
2| - -0 Tz
0 > il m><+—‘:>
2 11 5:3/0)4—'5
4 17 5=b
6 | 23

X

4. Complete the equation of the line that contains the two points.

(-3,-2) and (4, 12)

_—

M= \2-"2
¥-37 7
j’>m)(-l-".'>
\2 = ZC‘{)*"b
12 =g+b

4=

| x
5. Complete the equation of the line that contains the two points.

(3,9) and (15, 17)
" — \1—9 _ s - <

-3~ 123
Y= ~mixth
7= 508)+b
(0= (0+H
1=b Y| x
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@}\ﬁ Algebra 1 Quick Check — Form F

OGRAH

Readiness Standard 3 - 8.F.4

Name U?/

Learning Target: | will find the equation of a line. (Work time: 5 minutes)

Date

1. Complete the equation of the line represented in the graph.

y
A
(4,0)
< T
oyl —— ¥
//
L
C wu
y Glx+ |
2. Complete the equation of the line represented in the table.
e 2= :3 = '_1, =3
x y -3-"2
31 o Y= M x+b
2| 3| o= -33+b
1 6 0= ?-”b
o | - b= -1
1 -12
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@?‘&. Algebra 1 Quick Check — Form F

Readiness Standard 3 - 8.F.4 (continued)

3. Complete the equation of the line represented in the table.

x | v | e 1122212 =5
30 3

y= A~ 4b
3 | 13 2 = olS)¥b

3 17
6 32 —
y =

4. Complete the equation of the line that contains the two points.

(-3,-4) and (3, 14)

" — ‘L\-‘-q :-—‘E :.3
3--3 G
'j::—m;(%

4 = 3(3)+b

.H —,_;i-\/b

q
5:b

5. Complete the equation of the line that contains the two points.
(5,7) and (15,13)

VY\'—'_‘_%:_’Z- ';—‘9- :;
\S-5 1) 5

=~ vwx b

\3 = \5(%-\/5

\3=9+b
-4

—

U=b y =
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@%}. Algebra 1 Quick Check — Form G

OGN

Name [e

Readiness Standard 3 - 8.F.4

Date

v

Learning Target: | will find the equation of a line. (Work time: 5 minutes)

1. Complete the equation of the line represented in the graph.

y
A

(0,2)
N

\{0) > X

Y

2. Complete the equation of the line represented in the table.

x = 4-
1| s ﬂ:mxyb
0 6 = 3(9+b
I L= b

2 | 12

© OAISD, April 2022 38



@% Algebra 1 Quick Check - Form G

Readiness Standard 3 - 8.F.4 (continued)

3. Complete the equation of the line represented in the table.

(2,12 3)

X Y 2-0 A
-4 -13 j—; < b
2 -5 3= k{(0)"‘}
0 3 3= b
2 11
4 19 q X
4, Complete the equation of the line that contains the two points.
(-4,-5) and (2,7)
Mm= 1-"5 =12 -
2-"Y 6 2
\j = Mg +—b
7= Z,(L)-!-JD
1 :2 +h
~ -
X
2 = Z-
5. Complete the equation of the line that contains the two points.
(4,5) and (12,11)
- \-S _ L - 32
" - — - —
-y T T Y
\3:- ~\ ><+-*b
W= \L(%}'\"L
\=9q4+b
7 =b 3/,_( x
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@@ﬁ Algebra 1 Quick Check - Form H

moGRAn

Readiness Standard 3 - 8.F.4

Name qu

Learning Target: | will find the equation of a line. (Work time: 5 minutes)

Date

1. Complete the equation of the line represented in the graph.

\fhﬂ

Y

¥ =ik
2. Complete the equation of the line represented in the table.
& y m= =Y - Z - -2
o-l -1
0 6
3 = "M X +~b
1 4
L = -2(0)+ b
2 2
b=b
3 0
4 -2
—-Z X
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@% Algebra 1 Quick Check - Form H

MOGRAM

Readiness Standard 3 - 8.F.4 (continued)

3. Complete the equation of the line represented in the table.

b=5b

* 1Y m= 5-I'_-t.-,
6 | 7 0-3
3 | y= ek b
o | s ¢, = o(2)F b
3 | 1 5=b
6 17 Z X
4, Complete the equation of the line that contains the two points.
(-2,-5) and (2,11)
e WS o 1l oy
2-"2 H
kj’; -"V\X-&-\Q
\\= T b
~% 8
2=b Yx
5. Complete the equation of the line that contains the two points.
(5,8) and (20, 14)
Zo-5 \> 5
\j - mn"\X -\—\3
1 [ 1o
Y = -;('73* b
M= g *b
—& 6 z/s X
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G Algebra 1 Quick Check — Form A

OGRAR

Readiness Standard 4 - 8.EE.1

Date

Name kﬂ)&/

Learning Target: | will find equivalent numerical expressions using properties of integer exponents.

Directions: Circle the equivalent expression for each problem. (Work time: 3 minutes)

1. 2.

56 x 54

43 x 47

58 54 G2 53 34

& =

524 2510 10% 1610 g21 421
3 4,

28 83

24 89
5 6.

(5°)2 (34)®

32

© OAISD, April 2022




@{Zﬁ Algebra 1 Quick Check — Form B

Readiness Standard 4 - 8.EE.1

Name Vaom Date

v

Learning Target: | will find equivalent numerical expressions using properties of integer exponents.

Directions: Circle the equivalent expression for each problem. (Work time: 3 minutes)

1. 2.

34 x 32 73 x 7°

38 68 96 1418 499 718

42 98
46 94

6° 62 6 23 2° 2°
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ELTA
MATH

Algebra 1 Quick Check — Form C

Readiness Standard 4 - 8.EE.1

Date

Name K,U/C\)/

Learning Target: | will find equivalent numerical expressions using properties of integer exponents.

Directions: Circle the equivalent expression for each problem. (Work time: 3 minutes)

1. 2.
62 x 6° 27 x 23
110 367 610 221 410 421
3. 4.
512 45
54 415
58 13 53 410 13 43
5. 6.
(82)10 (69)3
88 812 85 66 63 612

© OAISD, April 2022
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@% Algebra 1 Quick Check — Form D

OGRAM

Readiness Standard 4 - 8.EE.1

Date

Name lcub\,

Learning Target: | will find equivalent numerical expressions using properties of integer exponents.

Directions: Circle the equivalent expression for each problem. (Work time: 3 minutes)

1. 2.
45 x 43 9% x 98
415 g1s 168 8110 924 182
3 4.
72 29
710 23
712 @ 75 18 12 23 13
5 6.
(5%4)8 (92)6
512 @ 52 54 g3 98 9
© OAISD, April 2022 24



@% Algebra 1 Quick Check — Form E

2GR

Readiness Standard 4 - 8.EE.1

Date

Name K,ua,

Learning Target: | will find equivalent numerical expressions using properties of integer exponents.

Directions: Circle the equivalent expression for each problem. (Work time: 3 minutes)

1. 2.
56 x 5¢ 43 x 47
524 2510 102 1610 g21 421
3. 4,
28 83
24 89
5. 6.
(5°)2 (34)®
58 54 @ 53 34 @ 312 32

© OAISD, April 2022
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@% Algebra 1 Quick Check — Form F

Readiness Standard 4 - 8.EE.1

Name K,Q}af Date

Learning Target: | will find equivalent numerical expressions using properties of integer exponents.

Directions: Circle the equivalent expression for each problem. (Work time: 3 minutes)

1. 2.

34X32 73X76

38 6° of 1438 49° 7%

46 94

1-4

6° @ 62 62 23 22 2°

© OAISD, April 2022
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@E Algebra 1 Quick Check — Form G

Readiness Standard 4 - 8.EE.1

Name l’,u/\/ Date

v

Learning Target: | will find equivalent numerical expressions using properties of integer exponents.

Directions: Circle the equivalent expression for each problem. (Work time: 3 minutes)

1. 2.

6% x 6° 27 x 24

1210 367 610 221 410 421 @

512 45
54 412

58 13 53 410 13 4-10

(82)10 (65)3
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ELTA
MATH

Algebra 1 Quick Check — Form H

Readiness Standard 4 - 8.EE.1

Name }CUV

Date

U

Learning Target: | will find equivalent numerical expressions using properties of integer exponents.

Directions: Circle the equivalent expression for each problem. (Work time: 3 minutes)

1. 2.
4> x 43 9% x 98
415 g1s 168 8110 924 18%
3. 4.
72 2°
710 23
712 @ 7-5 18 212 23 13
5. 6.
(54)® (9%)°
512 @ 52 5-4 912 9 3 98 9-4
© OAISD, April 2022 28



@?ﬁ Algebra 1 Quick Check — Form A

- Readiness Standard 5 - 8.EE.2

Name l(«U('&)/ Date

Learning Target: | will solve non-linear equations using square roots and cube roots.

Directions: Circle the solution to each equation. (Work time: 3 minutes)

1. 2.
X =4 X = 36
X X= 22 or -2:1 XXxX=06( L or
x =2 x=%*0b
3 4.
x3 = 125 x3 = -27
¥ X X =555 Yax-X = -3.73--3
x=5 x=—3
5 6.
9 81
2= = 2 = =
16 49
- 3.~ -3 7.
\(Y—%é(or 17"% X‘X—'7-Zor 3
x =23 x =43
L 7
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ELTA

Algebra 1 Quick Check - Form B

Readiness Standard 5 - 8.EE.2

Name KL:;—/ Date
Learning Target: | will solve non-linear equations using square roots and cube roots.
Directions: Circle the solution to each equation. (Work time: 3 minutes)
1. 2.
x> = 100 X = 36 <
XX = (010 or Xx=T1010 X:X=6b or XX
y=10 oc x=710 X=p or X=76
x =t(0 x =t
3. 4.
X = -8 X = 216
XXX ==§ XxXx=600
X: XX = -2:2°2
x =-2 x =
5. 6.
oo 8 oo 28
9 49 9: 9 64 S5
Y= 7 . ::— ¥~5'5 .
XX %-OKXX -7,7 XX‘%?O(XX ?'X
x=4Q x=t5
7 ¥
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ELTA

Algebra 1 Quick

Check—-Form C

Readiness Standard 5 - 8.EE.2

Name l(j,vy Date
U
Learning Target: | will solve non-linear equations using square roots and cube roots.
Directions: Circle the solution to each equation. (Work time: 3 minutes)
1. 2.
x* = 16 X = 64
XX=UN o XYY XXZBE or Xx= %8
O.ﬂ— x;t_‘ oc X:'k“ X'-’g 0("8
E-JTe x ==Y V& =G x =Xg
\SOEN I (3 = JFX o/FF
3. 4,
X3 = 27 3 = -64
XX X= 3.3, Xz -y -
3 - X X L P
58 _ 35 = 3G _
x =3 x = ~4
e =¥ G- 194
A6 > W33
5. 6.
) 2. B
100 ﬁﬁ, 16
"7 -) - 7t '?‘—7
= L. o x —_— =19 Y =
[
J/ 5 + 3 B=f@o [ x =49
To l° lo vy VA ¢
© OAISD, April 2022 19



ELTA
MATH

Algebra 1 Quick Check — Form D

Readiness Standard 5 - 8.EE.2

Name_bm/ Date
Learning Target: | will solve non-linear equations using square roots and cube roots.
Directions: Circle the solution to each equation. (Work time: 3 minutes)
1. 2.
x> = 49 x* = 81
VSN rT VK= VR
VT =J7A etV N e
X=71 0 X=-9 X=9 or X=-¢
X =+_, X =-I;q
3. 4,
x3 = -216 x> = 8
355 = 326 WVxd =3
33 = W60 3Ux: =33
X ="(D xX =2
5. 6.
2 = 25 2 = 64 )(z:f'_of
16 81 gl
K> Uzg V= JES o [T
) ' (i
2. |S F__— - _ -8
\)X/l, T}‘_S! or 1 4 X hed ‘% Q- ;‘
FTes Tr ¥
¢ 7
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@% Algebra 1 Quick Check — Form E

e Readiness Standard 5 - 8.EE.2

Name \O&,g/ Date

Learning Target: | will solve non-linear equations using square roots and cube roots.

Directions: Circle the solution to each equation. (Work time: 3 minutes)

1. 2.
¥ =4 2 = 36 i
XXz 2.2 oc Xex=2.2 XX26 6o XX="6-"6
X=2 ©oc Xz -2 X=0( or X =5
X =‘SZ X =‘_"-(o
3 4,
x3 = 125 x3 = -27
Xxex =655 X:kX= -3:73.7§
x=5 x = -3
] 6.
2= = 2= 3
16 49 .
. 3.3 _8-393°, - -9
X'thfg—.%o( X X> 4 ¥ XX*r,lq'%% € X-X= 2
X = of)(;"% X»%or x= -1
x = + 32 X =4+ 9
4 -7
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25



ELTA
MATH

Algebra 1 Quick Check — Form F

Readiness Standard 5 - 8.EE.2

Name_ oy Date
v
Learning Target: | will solve non-linear equations using square roots and cube roots.
Directions: Circle the solution to each equation. (Work time: 3 minutes)
1. 2.
X = 100 x* = 36
XX =010 o X:x=-10-7Io XX =6l or Xx="6"6
X=\O or X="10 X=G O x="6
x =+\0 x =10
3. 4.
XX = -8 X = 216
XXX = =2 52 =2 XX X2 b b6
x =-2 x =0
5. 6.
81 25
XX = — XX = —
49 64 s
.9 -9.- G\ =
XiXe-—o X‘X:E_? ' :,--i or X X=g o
- 2.7 XX T8 8
x =4+ f'_, x=%5
7 ¥
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ELTA
MATH

Algebra 1 Quick Check

Readiness Standard 5 - 8.EE.2

- Form G

Name {2y~ Date
Learning Target: | will solve non-linear equations using square roots and cube roots.
Directions: Circle the solution to each equation. (Work time: 3 minutes)
1! 2l
XX = 16 X = 64
XiX= 4 o xix=Y.-Y X.x=%F or Xux=-F-¥
X=4 oc X=-Y4 X=% o7 X=>-%
x =+ Yy x = -_tg
3. 4,
X3 = 27 X = -64
)(-)(‘)(;3,3,3 XXX = -—L(.—L{."L(
X = 5 x = _—L(
5' 6.
49 2 81
= — X = —
100 9 .9 16 —9 jl
-2 .7 - =7 1 Xix=2L] XX = T
XX = —~ or Xex=L- Ng
0 7 7o ¢ ¢ Y ¢
x =+ 1 x=+9
|0 Yy
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ELTA
Name [ o~

Readiness Standard 5 - 8.EE.2

Algebra 1 Quick Check — Form H

Date
Learning Target: | will solve non-linear equations using square roots and cube roots.
Directions: Circle the solution to each equation. (Work time: 3 minutes)
1I 2-
X = 49 x¢ = 81
Vxz =S¥ k= vg
KT =7 o S ke = Jag o JTA7
x =47 x =49
3l 4l
x3 = -216 2 =8
- 7
34/? = 3216 %3 - /J’?//
¥ e et s Yz
5. 6.
25 ({ Jﬁ , 64 _ Jg
X = — = Xt = — =
16 VX 6 81 S 1
-5 $ -~
ﬁ?ﬁ"ﬂr’v‘ Vxzz JEFor [ET
x =45 x=T ¥
4 7
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